Geography — Knowledge Organiser — LKS2

Autumn 2 Settlement — Land Use

Vocabulary | Definition “d Population How is Land Used?
Feature Things that you can see all round you. This includes physical and human Total Population 90% of land in the | 10% of the
features. | (Thousands) UK is UK is urban.
2000+
Annotation | To make notes and comments to a text or diagram. : 1000-2000 - Housing - Housing
Landmark | A well-known object in or feature of a particular landscape. [ 500-1000 . Factories .+ Factories
Distance The length of the space between two points. M 250-500 *  Education *  Education
M0-250 « Recreation « Recreation
Key It explains what the symbol shows. =
»  Business »  Business
Symbol Pictures or icons. . Farming . Healthcare
Land Use | The purpose given and the activities that take place in a given area of land. - Transport
Urban Towns or cities. . + Retail
Rural Countryside or farmland.
Population | How many people live in a certain area. Maps often use symbols to Pond
represent things. Stream
Agriculture | Another word for farming. The growing and harvesting of crops and/or + The key explains what the - . Footpath
breeding animals. symbol shows. SleepBone
Wall
Forestry A wooded area where trees are planted and taken care of. B a T' ﬁ W suing
Coastal The zone where the land meets the sea. £ opentend
Freshwater | Water that is not salty and can be found in lakes, streams and rivers.

Lesson |- How and why do settlements grow?

- We live in Athersley North.

- Athersley North is a village.

- Barnsley is a town.

- There are many factors that affect the
growth of settlements including building
new houses or a flood occurring.

Lesson 2- Use of Digi Maps to compare and
contrast the development and growth of
Barnsley.

- Barnsley has changed over time.

- Barnsley now has a larger population

when comparing the 1890s and the 1950s

to present day. Look at maps from Digi
Maps.

Lesson 6 - Apply- Revisit
past and talk about

Lesson 3 - Shops and services. Compare

Athersley and Barnsley.

- Athersley North has a smaller present.
population to Barnsley. - Barnsley is still
- Barnsley has more shops and services changing.

compared to Athersley North.

Lesson - and 5 - hvestigate- correct or

incorrect? "With higher numbers of

population, there are more shops and services

available” what do we need to do to

investigate that question?

- There are more transportation links in
Barnsley than Athersley North.

- Barnsley has a train station and a bus
station.

The Classworks is
opening with more
shops, a cinema and
a. bowling alley.
There are more
roads being built.




